
Spiel 1 Spiel 2 Gesamt

Spiel 021 22:14 A 5 STOLZ Raphael 65 + 55 = 120 # # # # #

B 5 JURKOWITSCH Thomas 40 + 45 = 85

Spiel 022 22:23 A 4 HARUCKSTEINER Thomas 62 + 53 = 115 #

B 4 HAHN Ernst 52 + 63 = 115 # O

Verlängeru 22:37 A 4 HARUCKSTEINER Thomas 15 + 16 = 31

B 4 HAHN Ernst 16 + 13 = 29

Spiel 023 22:41 A 3 WRUSS Harald 56 + 46 = 102

B 3 JURKOWITSCH Marcel 50 + 54 = 104 # #

Spiel 024 22:53 A 2 AIGNER Ernst 52 + 60 = 112 # # O #

B 2 HINTERSTEINER Hubert 54 + 52 = 106 # # O

Spiel 025 23:01 A 1 KILLINGER Patrick 63 + 43 = 106 #

B 1 STOLZ Leopold 53 + 53 = 106 O O

Verlängeru 23:11 A 1 KILLINGER Patrick 23 + 13 = 36 O

B 1 STOLZ Leopold 15 + 18 = 33


